
Vectors	-	Class	XII

Past	Year	JEE	Questions

Questions

Quetion:	01

If	 ,

	and	

such	that	 	and	 ,	then	 	is	equal	to	_____________.

Solutions

Solution:	01

Answer
Correct	Answer	is	2

Explanation

	....	(i)

	.....	(ii)

Solving	(i)	&	(ii)	 	=	 1,	 	=	2,

= α + β + 3a→ î ĵ k̂

= −β − α −b
→

î ĵ k̂

= − 2 −c→ î ĵ k̂

. = 1a→ b
→

. = −3b
→

c→ (( × ) . )1
3 a→ b

→
c→

. = 1 ⇒ −αβ − αβ − 3 = 1a→ b
→

⇒ αβ = −2

. = −3 ⇒ −β + 2α + 1 = −3b
→

c→

2α − β = −4

α − β

(( × ) . ) = = 21
3 a→ b

→
c→ 1
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